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Q.1 Which letter from the options will replace the question mark ¢?) in the following series?
B,G.E. HL,?%%W
Ans x 1. R
X2 P
V3 Q
Xa v

Question ID : 8161613606
Status : Answered
Chosen Option : 3

Q.2 Select the correct mirror image of the given figure when a vertical mirror is placed on the right side of the figure.
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Question ID : 8161613652
Status : Answered
Chosen Option : 4
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Q.3 Samson. Silvester, Noah, Peter and Bruce are standing in a row facing towards the South.

(a) Samson is standing to the immediate right side of Bruce.
(b) Silvester is standing between Noah and Peter.
(c) Peter is standing between Silvester and Samson.

Who is standing in the middle of the row?
Ans X 1. Bruce

X 2 Noah

V3 Peter

X 4 Samson

Question |D : 8161613635
Status : Answered
Chosen Option : 3

Q.4 Sapna invests 18% of her monthly income in murual funds. If she invests T3.724 in mutual finds. what is her monthly
income?

Ans X 1. %38.100
X 2 30.800
X 3 338,000
v+ 331,800

Question 1D : 8161613646
Status : Answered
Chosen Option : 4

Q.5 Pooja started from point A and walked 15 feet in the north-east direction to reach point B. She then took a 270° anti-
clockwise turn and walked 5 feet to reach point C. After that. she took a 90° clockwise turn and walked 1S feet to reach
point D. She continved walking in the same direction after reaching point D. In which direction is she finally walking
towards?

Ans  of 1. South-West
X2 West
X 3 South-East
X 4 East

Question 1D : 8161613630
Status : Answered
Chosen Option : 1

==

Q.6 Select the word-pair in which the two words are related in the satue way as the two words in the following word-pair.

Write : Pencil

Ans X1 Mattress : Pillow
Vv 2 Guard : Shield
X 3 Blood : Red
X 4 Whistle : Noise

Question 1D : 8161613618
Status : Answered
Chosen Option : 2
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Q7  Select the option in which the given figure is embedded (Rotation is not allowed).

Ans

Question ID : 8161613650
Status : Answered
Chosen Option : 4

Q.8 Select the option that is related to the third letter-cluster in the same way as the second letter-cluster is related to the first
{etter-cluster.

DUCK:LDVE: SWAN:?
Ans X 1. MZXT
X 2 OBVT
X 3 MZVR
v ¢+ OBXT

Question ID : 8161613621
Status : Not Answered
Chosen Option : --

Q.8 Select the option that is related to the third letter-cluster in the same way as the second letter-cluster is related to the first
letter-cluster.

TEMPERATURE : VENRFTBVVTF :: RESIDENTIAL : ?
Ans X 1. TFTKFFOVKBN
X 2. TFTJEFPVKBN
v TFTIFFPVIBN
X ¢+ TFTJFFOUJBN

Question 1D : 8161613623
Status : Answered
Chosen Option : 1
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Q10 -Horse" is related to *Gallop’ in the same way as ‘Mouse" is related to * %
Ans X 1. Fleet

v 2 Scamper

X3 Frisk

X + Trot

Question ID : 8161613617
Status : Not Answered
Chosen Option : --

Q.11 Aman sitting in the audience pointed at a boy performing on stage and said “That boy is the brother of Mira. who is the
daughter of the wife of the only son of the mother-in-law of my wife”. How is the boy related to the father of the man in
the audience?

Ans X 1. Father
X 2. Grandfather
3. Grandson
X 4 Son

Question ID : 8161613633
Status : Answered
Chosen Option: 3

—_— —

Q12 Which two signs should be interchanged to make the given equation correct?

21 - 3-35+4+7 x 28 = 224
Ans o1 X and -

X2 + and X
X3 + and X
X4 - and+

Question ID : 8161613644
Status : Not Answered
Chosen Option : --

Q.13 Select the alternative that arranges the following words in a logical and meaningful order.

1. Tablespoon

(B8]

. Fanatical
3. Recognition
4. Illustrations

5. Gastronomist

Ans XA 45k 100
xX24,51,3,2
3 4,53,1,2
X454,1,32

Question |D : 8161613612
Status : Not Answered
Chosen Option : --
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Q.14 Which two digits should be interchanged on the left hand side of the equal sign to make the given equation correct?
596- 125 + 19 + 65 x 2 = 598

Ans X1 9and 6
X2 land9
X3 35and6
v+ 2and5

Question ID : 8161613645
Status : Not Answered
Chosen Option : --

Q.15 Select the option that is related to the third number in the same way as the second number is related to the first number.

4102

Ans J1
X2
X3
X a4

A 0 O

Question ID : 8161613639
Status : Answered
Chosen Option : 1

Q.16 Ina code language. 'LEMON' is written as 'OPNFA. How will 'APPLE’ be written as in the same language?

Ans  of 1 FMQQB
X 2 FMOQB
X 3 FMQOB
X 4 FMOOB

Question ID : 8161613624
Status : Not Answered
Chosen Option : --

Q.17 Sachin left his home and walked 60 m in the north direction. Then he took a 90° clockwise tum and walked 120 m
to reach a shop. He then took a left tumm and walked 30 m to reach his school. Find the shortest distance between
his house and school.

Ans X1 130 m
X<290m
V3 150m
X4 120m

Question 1D : 8161613631
Status : Answered
Chosen Option : 3
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Q.18 Select the option that is related to the third letter-cluster in the same way as the second letter-cluster is related to the first
letter-cluster.

CUP:EBWTRO ::BED : ?
Ans o 1 DAGDEC
X 2. DAGDDF
X 3 DAGDCF
X 4+ DAGCFD

Question ID : 8161613622
Status : Answered
Chosen Option : 1

Q.19 Three different positions of the same dice are shown below. Identify which letter will appear on the face opposite to the
face with the letter °N*,

o
Ans X1 P

X2Q
V30
XaL

Question 1D : 8161613648
Status : Answered
Chosen Option : 3

Q.20 \Which letter cluster from the options will replace the question mark (?) in the following series?
ACDF. DFGI. GIJL. ?
Ans (1 JLNP
X 2 JLMN
X 3 JLNO
v+ JLMO

Question 1D : 8161613609
Status : Answered
Chosen Option : 4
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Q.21 Select the option in which the given figure is embedded (Rotation is not allowed).

Ans

X2

R

=

Question ID : 8161613651
Status : Answered
Chosen Option : 1

Q.22 Inacode language. 'MERCURY" is written as 'NGUGXTZ'. How will JUPITER' be written as in the same language?
ans X1 KVQIVGS

X 2. KSWLWGS

X 3. KVQIUFS

v ¢ KWSMWGS

Question ID : 8161613625
Status : Answered
Chosen Option : 4

Q.23 Thomas. Jack. Harry, Sam, Yash and Jason are sitting equidistant from each other around a round table facing towards
the centre.

(a) Yash is sitting to the right of Sam.
(b}Harry is sitting between Thomas and Jack.
(¢} Jason is sitting between Sam and Thomas.

Who is sitting to the [eft of Jack?

Ans X 1. Jason
X 2 Harry
X 3 Sam
Vv 4 Yash

Question ID : 8161613634
Status : Answered
Chosen Option : 4
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Q.24 A sports club has 57 members as represented by the given figure. The circle represents members who play badminton.
the pentagon represents members who play tennis and the triangle represents members who play cricket.

How many members of the club do NOT play badminton?
Ans X1 46
V2 30

X3 33
X424

Question 1D : 8161613654
Status : Answered
Chosen Option : 2

Q.25 Which number from the options will replace the question mark (?) in the following series?
0,6.26.62,124.7
Ans 1. 218
X2 216
V3 214
<4 212

Question ID : 8161613638
Status : Not Answered
Chosen Option : --

Q.26 In a school represented by Box D, rectangle B represeuts the number of students who speak Bengali. rectangle A
represents the number of students who speak Tamil and oval C represents the numberof students who speak Hindi.
Identifv the number of students in the school who can speak either Hindi or Bengali or both but not Tamil.

D
A B,
23 28
11
24
2567
[+

Ans X1 292
X2 28]
v 3 309
X4 29]

Question 1D : 8161613655

Status : Not Answered
Chosen Option : --
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Q.27 Ram s the only brother of Rupa. who is the only daughter of Maya. If Shyam is the only son of Pushpa. who is the
paternal grandmother of Ram. then how is Maya related to Pushpa?

Ans  of 1 Daughter-in-law
X 2. Mother-in-law
/< 3 Daughter
X 4 Mother

Question ID : 8161613632
Status : Answered
Chosen Option : 1

. elect the alternative that arranges the following words in the order in which they would appear in an English
Q.28 Select the altemative that ges the foll g words in the ord hich they Id app Englisl

dictionary.
1. Brinjal
2. Lettuce
3. Cabbage
-+ Pumpkin

5. Spinach

Ans (1.5,4,3,2,1
2 .300ud Be)
34,2, 1,5,3
v+ 1,3,2,4,5

Question ID : 8161613611
Status : Answered
Chosen Option : 4

Q.29 -Heart" is related to *Cardiac’ in the same way as ‘Lungs’ is related to *
Ans o 1 Pulmonary

X 2. Cerebral

X 3. Gastric

/< 4 Hepatic

Question ID : 8161613616
Status : Answered
Chosen Option : 1
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Q.30 Select the alternative that arranges the following words in a logical and meaningful order.
1. Terabyte
2. Bit
3. Megabyte
4. Gigabyte
S. Byte
Ans X1, 2,5,3, 1,4
X2 52341
X3523 1,4
v+ 25341

Question ID : 8161613614
Status : Answered
Chosen Option : 4

Q31 Select the number that can replace the question mark (?) in the following series.
12,20,30,42,?
Ans  of 1 56
X2 54
X3 6l
X 4 66

N

N

Question ID : 8161613637
Status : Answered
Chosen Option : 1

Q.32 Select the option that is related to the third number in the same way as the second number is related to the first number.
Sl
Ans X1 32
X2 27
X3 28
v 30

Question ID : 8161613640
Status : Answered
Chosen Option : 4

-
Q.33 Samson, Silvester. Noah, Peter and Bruce are standing in a row facing towards the south. Samson is to the immediate
right of Bruce. Silvester is berween Noah and Peter. Peter is between Silvester and Samson. Who is at the extreme right?

Ans X 1 Bruce
X 2. Samson
'3 Noah
X 4 Peter

Question ID : 8161613641
Status : Answered
Chosen Option : 3
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Q.34 Inacode language. if ‘BIRD' is coded as '714239" then how will 'FIRE' be coded in the same language?
Ans  of 1 11142310

X2 11142311

X3 12142311

X4 12142310

Question ID : 8161613626
Status : Not Answered
Chosen Option : --

Q.35 Select the alternative that arranges the following words in a logical and meaningful order.
1. Month
2. Week
3. Decade
4. Year
S. Fortnight
Ans o1 2,5,1,4,3
&K'= 23,4, 5,1
X3 2,41,3,5
X4 21,534

Question ID : 8161613613
Status : Answered
Chosen Option : 1

Q.36 A paper is folded and cut as shown below. How will it appear when unfolded?

Ans

IO

Question D : 8161613653
Status : Answered
Chosen Option : 1
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Q.37 Two statements are given, followed by three conclusions numbered I. IT and I11. Assuming the statements to be true,
even if they seem to be at variance with commonly known facts. decide which of the conclusions logically follow(s)
from the statements.

Statements:

¢ All diaries are books.
o All pages are diaries.

Conclusions:
1. All pages are books.
11. Some books are diaries.

H1. All books are pages.

Ans X 1. Only conclusion I follows
/< 2. Only conclusions II and III follow
/< 3. Only conclusions I and III follow

« ¢ Oanly conclusions I and II follow

Question {D : 8161613628
Status : Answered
Chosen Option : 4

Q.38 The ratio of the ages of a mother and a daughter after 20 years will be 15 : 8 and the ratio of their ages 8 years
ago was $: 1. What is the ratio of their cuirent ages?

Ans  X1.5:2
<2 23:14
X3 4:1
v+ 10:3

Question |D : 8161613647
Status : Answered
Chosen Option : 3
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Q.39 Select the option in which the given figure is embedded (Rotation is not allowed).

/I:I

Ans

Question ID : 8161613649

Status : Answered

Chosen Option : 1

Q.40 Select the word-pair in which the two words are related in the same way as the two words in the following word-pair.

Birds : Oraithology

Ans X 1 Animals : Botany

/2 Earth : Geology
X 3. Minerals ; Meteorology

X 4 Artifacts : Hematology

Question 1D : 8161613620

Status : Answered

Chosen Option : 2

Q.41 Select the word-pair in which the two words are related in the same way as the two words in the following word-pair.

Dog : Kennel

Ans X 1 Goat : Nest
o 2 Chicken : Coop
X 3 Pig: Burrow
X 4 Fox : Cave

Question ID : 8161613619

Status : Answered

Chosen Option : 4
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Q.42 Which number from the options will replace the question mark (?) in the following series?
2.3510915,:2,°35
Ans K123
V2 26
X3 27
X4 24

Question ID : 8161613636
Status : Not Answered
Chosen Option : --

Q43 Find the number that can replace the question mark (?) in the below table.

16 |35 82

12 |13 | 138

19 |8 2

Ans X1 |52
X2 150
X3 156
v 154

Question ID : 8161613642
Status : Answered
Chosen Option : 4

Q44 Select the number that can replace the question mark (?) in the following series.

24,60, 120, 210, ?
Ans  of 1. 336

X2 343

X3 256

X4 243

Question ID : 8161613643
Status : Answered
Chosen Option : 1
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Q.45 Twostatements are given. followed by tluree conclusions numbered 1. IT and I11. Assuming the statements to be true,
even if they seem to be at variance with conunonly known facts. decide which of the conclusions logically follow(s)
from the statements.

Statements:

o Some fishes are whales.
o No whale is a swimmer.

Conctusions:
1 All fishes are swinuners.
11 No fish is a swimmer.

II. Some fishes are swimmers.

Ans X 1 Only conclusion III follows

V 2 Either conclusion II or III follows
< 3. Both conclusions II and III follow
X 4 Only conclusion II follows

Question 1D : 8161613629
Status : Answered
Chosen Option : 1

Q.46 \Vhich letter cluster from the options will replace the question mark (?) in the following series?
AZG.BYH.CXL?
Ans x 1 DVJ
X2 DUK
X3 DYK
v+ DWJ

Question |D : 8161613608
Status : Answered
Chosen Option : 4

Q47 Blunt is related to *Sharp’ in the same way as *Shallow" is related to *
Ans X 1. Ocean

X 2 Basin

3 Deep

X 4 Wide

Question 1D : 8161613615
Status : Answered
Chosen Option : 3

Q.48 Find the missing letter-cluster that can correctly replace the question mark (?) to complete the given series.

AYBZ, C\WDX, EUFV, ?
Ans  of 1 GSHT
X 2 GHST
X 3 TSHG
X + THSG

Question ID : 8161613610
Status : Answered
Chosen Option : 1
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Q49 Select the letter that can replace the question mark (?) in the following series.

C.H,0.X.?
Ans x1 3]
X2 L
X3 K
vl

Question ID : 8161613607
Status : Answered
Chosen Option : 4

Q.50 Inacode language, if 'STEM' is coded as *21182219741512" then how will * SKIN ' be coded in the same language?
Ans X1 211813011181613

X2 211813101131613

<3 211813110181613

v+ 211813101181613

Question ID : 8161613627
Status : Answered
Chosen Option: 3

Section ' General Awareness

Q.1 Which of the following enzymes is found in human tears due to which bacteria die?
Ans X 1. Amylase

x 2. Trypsin
J 3. Lysozyme

x 4. Lipases

Question ID : 8161613669
Status : Answered
Chosen Option : 3

—

Q.2 The archaeological site Daimabad of the Indus Civilisation is situated on the banks of
the river:

Ans (1 Banas

x 2. Narmada

x 3. Krishan
J 4. Pravara

Question |D : 8161613695
Status : Not Answered
Chosen Option ; --
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Q.3 In year 2019, Pawan Kumar Chamling became the longest serving Chief Minister of
India. Whose record did he break?

Ans X 1 Gegong Apang
x 2 Parkash Singh Badal
J 3 Jyoti Basu

x 4. Manik Sarkar

Question ID : 8161613701
Status : Not Answered
Chosen Option : --

Q.4 Which of the following scientists developed the design of Barcode?
Ans X1 Selman Waksman

«2 George Laurer
x 3. James Watson

x 4. George Wald

Question ID : 8161613681
Status : Answered
Chosen Option : 1

s e e

Q.5 Which of the following is correctly matched?

Ans x 1. National Waterway -1 - Dhubri-Sadiya Waterway

x 2, National Waterway -4 - Prayagraj-Haldia Waterway
x 3. National Waterway -2 - Kakinada-Puducherry Waterway

« 4. National Waterway -3 - Kottapuram-Kollam Waterway

Question 1D : 8161613691
Status : Not Answered
Chosen Option : --

Q.6 Which of the following rivers originates from Ratapani Wildlife Sanctuary?
Ans X' 1 Chambal

X 2. Parvati
( 3. Betwa

x 4. Narmada

Question ID : 8161613688
Status : Not Answered
Chosen Option : --

Q.7 When the temperature of a semiconductor is increased, its resistivity:
Ans X 1 increases

x 2, sometimes increases, sometimes decreases
« 3. decreases

x 4. remains constant

Question ID : 8161613672
Status : Answered
Chosen Option : 4
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Q.8 Towhich of the following ministries is the ‘Santusht’ portal related?

Ans x 1. Ministry of Human Resource Development
x 2. Ministry of Finance
4 3 Ministry of Labour and Employment

x 4. Ministry of Communication and Information Technology

Question ID : 8161613666
Status : Not Answered
Chosen Option : --

Q.9 Who was appointed as the 24th Controller General of Accoumts in December 2019?
Ans x 1. Shashi Kant Sharma

X 2. Rajiv Mehrishi
J 3. Soma Roy Burman
X 4. Vinod Rai

Question ID : 8161613659
Status : Answered
Chosen Option : 1

Q.10 What is the compound Zinc Oxide (Zn0) called?
Ans X 1. Lithopone

x 2. Zincate
x 3. Zinc blende

J4 Philosopher's wool

Question ID : 8161613677
Status : Answered
Chosen Option : 2

Q.11 The only unopposed President of India, Neelam Sanjiva Reddy became the President
in:

Ans X1 1981
f 2 1977
X 3 1974
X 4 1969

Question ID : 8161613699
Status : Not Answered
Chosen Option : --

Q.12 What is the function of Velamen (a plant tissue)?
Ans J 1 Absorption of water

x 2. To control temperature
x 3. Absorption of minerals

x 4. Respiration

Question ID : 8161613670
Status : Not Answered
Chosen Option : --
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Q.13 When did the Union Territories of Daman and Diu and Dadra and Nagar Haveli become
a single union territory?

Ans (1 26th January, 2019
< 2 15th August. 2018
o 3 26th January, 2020

&< 4. 15th August, 2019

Question 1D : 8161613662
Status : Not Answered
Chosen Option : --

Q.14 Which company has partnered in December 2019 with the National Association of
Software and Services Companies (NASSCOM) to launch the Future Skills platform for

10,000 students from over 20 engineering colleges in India?
Ans X 1. Google

J 2 Wipro

X 3. Microsoft

X 4 1CS

Question ID : 8161613663
Status : Not Answered
Chosen Option ; --

Q.15 Which was the first country to recognise Indian Pharmacopoeia in December 2019?
Ans X 1 Russia

x 2. Bangladesh

2< 3. Bhutan

J 4 Afghanistan

Question ID : 8161613661
Status : Not Answered
Chosen Option : --

Q.16 In which city was the 'Army Scouts Masters Competition’, 2019 held?
Ans X 1 Pune

x 2. Visakhapatnam

x 3. Surat
J4 Jaisalmer

Question ID : 8161613660
Status : Not Answered
Chosen Option : --

Q.17 Which of the following is INCORRECT about Mica?

Ans f 1. It has low electrical resistance
x 2. Itis translucent
X 3. Itis highly fire proof

< 4. Itis highly tough

Question 1D : 8161613682
Status : Answered
Chosen Option : 4
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Q.18 Which of the following oil refineries is NOT in Assam?
Ans X 1 Digboi

< 2. Numaligarh

« 3. Barauni

x 4. Noonmati

Question ID : 8161613689
Status : Not Answered
Chosen Option : --

Q.19 In which state is the Karingali Puncha wetland located?
Ans X' 1 Qdisha

JZ Kerala

x 3. West Bengal
X 4 Tamil Nadu

Question ID : 8161613687
Status : Not Answered
Chosen Option : --

Q.20 Which of the following rulers defeated Muhammad Ghori in 1178?
Ans X 1 Bhama- |

X< 2. Prithviraj - i

x 3. Bhoja
J4 Bhima - II

Question ID : 8161613693
Status : Not Answered
Chosen Option : --

Q.21 What is the purpose of the ‘Urjagiri Campaign' started by the Uttarakhand
government?

Ans X 1. Stop illegal mining of coal
72X 2. Promote the use of bio fuel
JS Prevent power theft

x 4. Promote non-renewable energy

Question ID : 8161613664
Status : Answered
Chosen Option : 2

Q.22 Which of the following is the reason for a sound to be ‘Grave’ or ‘Shrill’?
Ans  of 1 Pitch

X 2. Quality
x 3. Phase

x 4. Intensity

Question ID : 8161613673
Status : Not Answered
Chosen Option : --
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Q.23 Laxmeter measures:
Ans X 1 sound density

X 2. blood pressure
J3 knee ligament laxity
X 4 heart beat

Question ID : 8161613678
Status : Answered
Chosen Option : 3

Q.24 In November, 2019 the Ministry of Commerce and Industry allocated a separate
Harmonised System (HS) code for ‘Khadi'. Which organisation developed the HS
code?

Ans X 1. World Bank

X 2 World Trade Organisation
x 3. International Monetary Fund

J 4. World Customs Organisation

Question ID : 8161613665

Status : Not Answered
Chosen Option : -

Q.25 PK Thungan Committee is related to:

Ans X 1. election commission
x 2. central vigilance commission
J3 panchayati raj

X 4 fundamental rights

Question 1D : 8161613702

Status : Not Answered
Chosen Option : --

Q.26 Which of the following statements is correct about operation ‘Clean Art'?

Ans x 1. Itis an Indian operation to crackdown on the smuggling of tiger hair in the country

x 2. It is an Indian operation to crackdown/on the smuggling of rabbit hair in the country

x 3. Itis an Indian operation to crackdown on the smuggling of elephant hair in the
country

J 4. It is an Indian operation te,crackd own on the smuggling of mongoose hair in the
country

Question ID : 8161613658

Status : Not Answered
Chosen Option : --

Q.27 Which of the following statements is NOT correct about Pasteurisation?

Ans X 1 Louis Pasteur discovered this method

x 2. This is a method of preserving liquid food items
J 3. Itis a process of dehydration

x 4. This process kills bacteria present in milk or other liquids

Question ID : 8161613679
Status : Answered
Chosen Option : 3
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Q.28 Which of the following is NOT correct?

Ans X 1. Plague is a bacterial disease
X 2. AIDS is a viral disease
x 3. Ebola is a vira! disease

J 4. Malaria is a bacterial disease

Question ID : 8161613684
Status : Answered
Chosen Option : 4

Q.29 Which of the following is NOT a nitrogen fixing bio fertilizer?
Ans X 1. Azotobacter

x 2. Rhizobium

J 3. Pseudomonas

x 4. Azolla

Question ID : 8161613683
Status : Answered
Chosen Option : 4

Q.30 The citric acid cycle is also known as:
Ans X 1 Hene loop

x 2. menstruation cycle
x 3. carbon cycle

J4 Krebs cycle

Question ID : 8161613668
Status : Not Answered
Chosen Option ; --

Q.31 Which of the following is a variety of millet?
Ans X' 1 IR-8

X 2.csv-1

X 3 MP-4010

o 4 RAJ1T

Question !D : 8161613686
Status : Not Answered
Chosen Option : --

Q.32 Who is the author of the famous book 'The Great Smog of India'?
Ans  of 1 Siddharth Singh

x 2. Vikram Seth
x 3. Chetan Bhagat

< 4. Romila Thapar

Question ID : 8161613697
Status : Not Answered
Chosen Option : --
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Q.33 Mir Madan and Mohanlal are associated with:
Ans x 1. First Anglo Maratha war

JZ. Battle of Plassey
x 3. Battle of Buxar

x 4. First Anglo Mysore war

Question ID : 8161613694
Status : Not Answered
Chosen Option : --

Q.34 With which sport is the famous Indian player Khumukcham Sanjita Chanu associated?
Ans X 1 Wrestling

x 2. Boxing

x 3. Athletics

o 4 Weightifting

Question ID : 8161613705

Status : Not Answered
Chosen Option : --

Q.35 For which book was Nasira Sharma selected for the Vyas Samman of the year 20197
Ans X1 NaBhuto Na Bhavishyati

x 2. Jitne Log Utne Prem
J 3. Kagaz Ki Naav

2< 4. Ex Kahani Yah Bhi

Question ID : 8161613698

Status : Not Answered
Chosen Option : --

Q.36 Which of the following is NOT correct about the element sodium?
Ans X 1 Itis a silver-white metal

Z< 2. 1tis a good conductor of electicity
« 3. The density of sodium is slightly moregtharwater

x 4 _Itis highly reactive. reacting explosively with water

Question ID : 8161613680
Status : Answered
Chosen Option : 4

Q.37 Which of the following states receives little rainfall from the south-west monsoon?
Ans J 1. Tamil Nadu

x 2. Kerala

x 3 Rajasthan

x 4. Goa

Question ID : 8161613685
Status : Answered
Chosen Option : 3
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Q.38 Which colour is most dispersed when white light passes through a prism?
Ans (1 Green

W 2. violet
X 3 Yellow
X 4 Red

Question ID : 8161613671
Status : Answered
Chosen Option : 2

Q.39 Which of the following is INCORRECTLY matched?
Ans x 1. Rajsamand Lake - Rajasthan

JZ Tsomgo lake - Meghalaya
< 3. Renuka Lake - Himachal Pradesh

x 4. Himayat Sagar Lake - Telangana

Question 1D : 8161613690
Status : Not Answered
Chosen Option : --

Q.40 Which of the following statements is correct about Graphene?

Ans (1 Itis an alloy of carbon
« 2. Itis a carbon based nanostructure
x 3. Itis an isotopic of carbon

x 4. Itis a carbon compound

QuestionID : 8161613676
Status : Answered
Chosen Option : 2

Q.41 Which of the following is NOT a browser?
Ans X1 Chrome

x 2. Firefox

x 3. Internet Explorer

« 4. Google Mail

Question {D : 8161613657
Status : Answered
Chosen Option : 4

Q.42 A subdivision of biology, Gerontology is related to a scientific study of:
Ans X 1, animals

2 2. children

, 3 older aduits

x 4. women

Question ID : 8161613675
Status : Answered
Chosen Option : 3
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Q.43 Which of the following crops is related to Karnal bunt disease?
Ans (1 Maze

x 2. Pea
JS Wheat
x 4. Rice

Question 1D : 8161613674
Status : Not Answered
Chosen Option : --

Q.44 Which of the following Articles is related to the privileges of Members of Parliament?
Ans  of 1 Asticle 105

X 2. Adticle 129
< 3. Article 170
XX 4 Article 194

Question ID : 8161613703
Status : Not Answered
Chosen Option : --

Q.45 Arrange the following events in chronological order and select the correct option from
those given below.

1. Death of Chandrashekhar Azad
2. Kakori Conspiracy

3. Formation of Indian National Army by Mohan Singh
4. The Champaran Satyagraha

Ans X 14-2-3-1
X22-4-3-1
34-2-1-3
X42-4-1-3

Question ID : 8161613696
Status : Not Answered
Chosen Option : --

Q.46 Dial-up networking is:

Ans x 1. a multiplication technique
x 2. a modulation technique
K 3. ademodulation technique

« 4. a connection method

Question ID : 8161613656
Status : Answered
Chosen Option : 3



Shashi Verma
Sticky Note
None set by Shashi Verma

Shashi Verma
Sticky Note
MigrationNone set by Shashi Verma

Shashi Verma
Sticky Note
Unmarked set by Shashi Verma

Shashi Verma
Sticky Note
None set by Shashi Verma

Shashi Verma
Sticky Note
MigrationNone set by Shashi Verma

Shashi Verma
Sticky Note
Unmarked set by Shashi Verma


Q.47 In 1930, a conference was held under the chairmanship of Muhammad Igbal, in which

there was a demand to give the status of Muslim state to Northwest India. Where was
this conference held?

Ans of 1 Allahabad

x 2. Lahore
X 3. Mumbai
x 4. Karachi

Question ID : 8161613692
Status : Not Answered
Chosen Option : --

Q.48 Which of the following proteins is found in milk?

Ans X 1.Globulins
X 2. Myosin

J 3. Caseins

x 4. Haemoglobin

Question ID : 8161613667
Status : Answered
Chosen Option : 3

Q.49 Which of the following women players has been awarded the 'World Championship
Award, 2019' by the International Tennis Federation?

Ans (1. Sania Mirza
x 2. Bianca Andreescu

W 3. Ashleigh Barty

x 4. Naomi Osaka

Question ID : 8161613704
Status : Not Answered
Chosen Option : --

Q.50 When was the first no-confidence motion moved against the cabinet in independent
India?

Ans (1 July 1964

x 2. November 1968
< 3 March 1966
J 4. August 1963

Question ID : 8161613700
Status : Not Answered
Chosen Option : --

Section ' General Engineering Civil and Structural
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Q.1 The area of a plan of an old survey plotted on a sheet is found to have shrunk so that a line originally 10 cm long now
measures 9.7 cm only. Calculate the shrinkage factor.

Ans  of 1 0.97
X297
X3 97
X4 1.03

Question ID : 8161613738
Status : Answered
Chosen Option : 1

Q.2 The gross commanded area for a distributary is 12000 hectares. culturable command area in Kharif and Rabi season is
3554.4 hectares. and 2369.9 hectares, respectively. If the average duty at the head of the distributary is 2150 hectare per
cumec for rabi season and 1900 hectare per cumec for kharif season. then determine the discharge required at the head
of the distributary from average demand consideration (nearest to closest value):

Ans  of 1 ].49 cumecs
X 2 1.10 cumecs
X 3 1.29 cumecs
X 4 1.25 cumecs

Question 1D : 8161613762
Status : Not Answered
Chosen Option : --

Q.3 Aroad embankment 10 m wide at the formation level with side slopes 2 : 1 and with average height of 5 m is
constructed with an average gradient 1 : 40 from the contour 220 n1 to 280 m. Find the volume of earth work.

Ans X1 6.40.000 m?
X 2 1.40,000 m?
X3 3.40,000 m°
v 4 240,000 m?

Question ID : 8161613737
Status : Not Answered
Chosen Option : --

Q.4 The maximum allowable vertical deflection under live load for a cantilever member supporting brittle cladding in an
industrial building is:

Ans X 1. Span/ 240
< 2 Span/ 180
X 3 Span/ 120
¢ 4 Span/ 150

Question ID : 8161613800
Status : Not Answered
Chosen Option : --
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Q.5 According to IS 456-2000, nominal cover for reinforcements in case of footings. under *very severe* exposure:
Ans X 1. shall not be less than 30 mm

X 2 shall not be less than 25 mm

v 3 shall not be less than 50 mm

X 4 shall not be less than 40 mm

Question 1D : 8161613795
Status : Not Answered
Chosen Option : --

Q8 A shear box test was performed to give the following results for a cohesive soil sample.

Result : (0 | Q)

Normal stress ¢ (KNym?) | 150 | 250

Shear stress at failure t 110 | 120

(KN/m?)

The values of ¢ and tan ¢ are:

Ans

v tan ¢=0.1and c=95 KN/m?
X2 tang=0.8andc=70 KN/m?
X3 tan ¢ = 1.0 and ¢ = 108 KN/m?
X4 tanp=1.2andc=108 KN/m?”

Question ID : 8161613744
Status : Answered
Chosen Option : 1

Q.7 The phenomenon in which clay is made loose and any ingredient to be added to it is spread out on top and mumed up and
down in a vertical direction is known as:

/< 1. weathering
2 blending

X 3. tempering

Ans

X 4 cleaning

Question ID : 8161613708
Status : Answered
Chosen Option : 3
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Q.8 Consider the given statements with respect to unburnt or sun dried bricks.
a. Unbumt or sun dried bricks can be used ouly in the construction of temporary and cheap structures.
b. Unbumt or sun dried bricks should NOT be used at the places exposed to heavy rains.

Identify the correct statement’s.
Ans  of 1 Both the statements are true.
< 2. Both the statements are false.
X 3 Statement a is false and statement b is true.

X 4 Statement a is true and statement b is false.

Question ID : 8161613712
Status : Answered
Chosen Option : 1

Q.9 The partial safety factor for loads to be adopted for Dead load (DL) and Live load (LL) for the combination of toad
taken as (DL — LL), under limit state of collapse. as per IS 456:2000. are and . respectively.

Ans X 1. 1.2:1.5
X2 1512
<3 1.2:1.2
v 15 1S

Question ID : 8161613796
Status : Answered
Chosen Option : 4

Q.10 Match the following qualities (List 1) with the tests that are done to ascertain these qualities (List 2) with respect to
bricks (inctudes different classes).

A) Hardness i) Pressing the brick till
it breaks.

B) Water it) No impression

absorption should be left on the
surface of the brick.

C) Soundness iii) Not more than 20%
of weight of dry brick.

D) Compressive iv) Should give clear

strength ringing sound.

Ans X1 A—sii, B— i, C— iv, D i
X 2 A— ii. B— iy G— i, D— iv
X3 A— i, B— ii.€C— iv. D— iii
v+ A— i, B— iii, C— iv, D— i

Question ID : 8161613714
Status : Answered
Chosen Option : 4
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Q.11 A soil has bulk unit weight of 20 kN-m? and water content of 17%. Calculate the water content if the soil particle dries

to a unit weight of 19 kN m? and the void ratio remains constant. (Give the answer rounded 1o the nearest integer value.)
Ans - X 1. 20%
"2 15%
X3 8%
v 11%

Question |D : 8161613745
Status : Answered
Chosen Option : 2

Q.12 Acenain crop is grown in an area of 3000 hectares which is fed by a canal system. The data pertaining to irrigation is as
follows:

1. field capacity of soit = 29%

2. optimum moisture = 17%

3. effective depth of root zone = 80 cm
4. relative density of soil = 1.302

If the frequency of irrigation is 10 days and permanent wilting point = 10%. then find the daily consumptive use.

Ans X' 1. 12.5cm
X2 125cm
X3 0.125cm
v+ 1.25cm

Question ID : 8161613761
Status : Not Answered
Chosen Option : --

Q.13 The exertion of biochemical oxygen demand (BOD) by microorganismis is called:
Ans X 1. transpiration

X 2. eutrophication

3 deoxygenation

< 4 reoxygenation

Question ID : 8161613774
Status : Answered
Chosen Option : 3

Q.14 A cantilever beam of size 300 mm * 350 mm with 3 bars of 12 mm diameter in tension zone, has a span of 3 m. adopt
M20 concrete and Fe500 grade steel: The depth of neutral axis is (assume clear cover as 23 mm).

Ans  of 1 68.27 mm
X2 259.5 mm
X3 415 mm
X4 121.5 mm

Question ID : 8161613799
Status : Not Answered
Chosen Option : --
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Q.15 Calculate the shear strength in tenms of effective stress soil on a plane within a saturated soil mass at a point where the
total normal stress is 295 kPa and pore water pressure is 120 kPa when ¢* = 12 kPa and angle of intemal friction is 30°.

(take tan30 =0.578)

Ans X1 75.68 kPa
V2 113.15 kPa
X 3 135.64 kPa
X 4 85.06 kPa

Question ID : 8161613747
Status : Answered
Chosen Option : 2

Q.16 A simply supported beam of span 6 m camies an uitimate UDL of 25 KNum. The plastic moment capacity of the same is

Ans X1 146.85 KN-m
V2 112.5 kN-m
X3 102.5 kN-m
X4 12545 kKN-m

Question ID : 8161613804
Status : Answered
Chosen Option : 2

Q.17 The flow ratio of a Francis turbine. if it is working under a head of 62 m and velocity atinlet 7m's (g = 1om's?) is:

Ans X1 (.3

Question ID : 8161613752
Status : Not Answered
Chosen Option : --

Q.18 The overall efficiency of a centrifugal pump when head is 25 m, discharge = 0.04 m?s and output power p= L6 KW

(take g = 10 n¥sec? and p = 1000) is:

~

>
@

X

o\

59

A2 W N
QN N
19 t9 'Jou
ek
s o

Question |D : 8161613753
Status : Not Answered
Chosen Option ; --
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Q.19 A water pump is installed in a building at a cost of 2.500/-. The life of the pump is 15 vears. The annual fund required
to be deposited to accumulate the whole amount is (take capital recovery factor as 0.05).

Ans - X 1. 3250/-
X 2 325/-
X3 T625/-
v Z125/-

Question ID : 8161613725
Status : Answered
Chosen Option : 4

Q.20 The area of jet and velocity of jet are 0.02 m?and 75 m's. respectively and the total discharge through a pelton murbine is

3m¥/s. Whatare the number of jets required?

Ans x1_ 1
X2 4
X33
v 2

Question ID : 8161613751
Status : Not Answered
Chosen Option : --

Q.21
Observe the given figure and answer the question that follows.

J VERANDAH ,
? e 1.6m] -

Treads=30cm
¢R| sers=1 SCI'E‘ i

The radius of the circular steps in the order from 1% to 42 step is:
Ans (1 1L.41m, 1.11 m, 0.8 m, 1.71 m

2 1.7m 1.4 my.l m0.8m

X308lm L.1lm, 1.4l m, 1.7l m

X4 08m, l.4m, l.1m 1.7m

Question ID : 8161613723
Status : Not Answered
Chosen Option : --
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Q.22 A residential building is constructed at a cost of 1.75.00Q"-. The total outgoing including sinking fund is ¥11.50Q'- per
annum. If the owner desires 5% return on construction. then the gross monthly rent of the property is:

Ans o1 31,687.50
X 2 %8,750.00
X 3 ¥20.250.00
X 4 3730.00

Question ID : 8161613729
Status : Answered
Chosen Option : 1

Q.23 Ifgl=-1.2% and g2 = 0.8% and rate of change of grade = 0.1% per 20 m chain. then the length of the vertical curve is:

Ans X110 chains
X 2. 15 chains
X 3. 30 chains
v 4 20 chains

Question ID : 8161613739
Status : Not Answered
Chosen Option : --

Q.24 is an instrument that is used to detect the presence of specific volatile organic compounds. such as gasoline,
and methane in a landfill. through the use of shallow boreholes.

Ans X1 electrical resistivity meter

7< 2. ground probing radar
X 3 geo magnetics

4+ photoionisation meter

Question ID : 8161613780
Status : Not Answered
Chosen Option : --

Q.25 According to Power's formula the theoretical compressive strength'of sample of concrete with gel space ratio 0.59 is:
Ans - X1 97.24 MPa

V2 49.29 MPa

X3 57.2 MPa

X 4+ 78.84 MPa

Question ID : 8161613793
Status : Not Answered
Chosen Option : --
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Q.26 Ifthe latitude and departure of a survey line are negative. then the direction of metioned lines in whole circle bearing
system will be in the range of:

Ans X 1.90° to 180°
V2 180° to 270°
X 3 0°to 90°
X 4 270° to 360°

Question ID : 8161613733
Status : Answered
Chosen Option : 2

Q.27 Select the correct match for the given information.

1. Regulatory signs | A. prohibitory signs, restriction end signs, stop and give way signs, etc.

2. Waming signs B. cross road, side road right. narrow bridge, etc.

3. Informatory signs | C. parking signs. flood gauge, facility information sign. etc.

Ans  of 1 1>A. 2B, 3-C
X2 1—A,2—-C, 3—B
X3 1-B.2—C. 3—A
X4 |>C,2—>A,3-B

Question ID : 8161613768
Status : Answered
Chosen Option : 4

= =

Q.28 The perpendicular force to flow exerted by a jet on stationary inclined flat plate = .when velocity

of jet = 20m/s, angle between jet and plate = 60° and area of cross section of jet = 0.01m?.
Ans o1 1732.05N
X2 1682.03N
X3 [542.05N
X4 1563.03N

Question ID : 8161613756
Status : Not Answered
Chosen Option : --

Q.29 For a certain soil. the angle of intemal friction is 30°. The coefficient of active and passive pressure,
respectively, will be:

Ans X 1.0.5,0.8
X204, 12
X 306,24
v+ 033,3

Question iD : 8161613743
Status : Answered
Chosen Option : 4
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Q.30 Calculate the theoretical capacity (C) of a traffic lane with one-way traffic flow for the given data.

Ans

1. Traffic flow at a stream speed = 40 km'h

2. Average centre to centre spacing of vehicles = 12.8 m

X 1 312.5 vehicles / hour / lane
V2 3125 vehicles / hour / lane
X 3 3.125 vehicles / hour / lane
X 4 31.25 vehicles / hour / lane

Question ID : 8161613769
Status : Answered
Chosen Option : 2

Q.31 Calculate the plastic section modulus of a beam which is experiencing a maximum bending moment of 590.63 kN-m

Ans

(take partial safety factor as 1.10 and yield strength of steel as 250 NI mm?).

X1 2246.64 cm’
X2 1568.16 ct’
X3 1856.15 cm®
v 4 2508.77 e

Question ID: 8161613805
Status : Not Answered
Chosen Option : --

Q32 Deval Attrition Test is used to determine which of the following?

Ans

/' Aggregate abrasion value
X 2 Aggregate impact value
< 3 Aggregate roughness value

X 4 Aggregate crushing value

Question ID : 8161613789
Status : Answered
Chosen Option : 1

Q33 Duty on capacity is also known as:

Ans

X 1 nominal duty

X 2. capacity factor

3 full supply coefficient
/< 4 root zone depth

QuestionID : 8161613764
Status : Answered
Chosen Option : 1
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Q.34 The back sight at a station A is 0.865 m and the height of instrument is 561.365 m. The reduced level at A will be
{(in unit m):

Ans X 1.559.260
2 560.500
X 3.560.550
X 4 558.705

Question ID : 8161613734
Status : Answered
Chosen Option : 2

Q35 Slope = area of BMD/E], is the relation given by:

Ans  of 1 Mohr's first theorem
< 2. Mohi's second theorem
X 3 Castigliano’s theorem

< 4 Macaulay’s theorem

Question 1D : 8161613783
Status : Answered
Chosen Option: 2

Q.36 Asingle rolling load of 40 kN rolls from left end along a simply supported girder of span 20 m. The absolute maximum
positive and negative shear force. respectively are:

Ans X 1. [4Kn and ~26kN
W 2. 40Kn and —40kN
X 3 26Kn and —14kN
X 4 20Kn and —20kN

Question ID : 8161613785
Status : Answered
Chosen Option : 2

Q.37 Insetting up a plane table at a station A, the comresponding point on the plan was NOT accurately centred above A. If
displacement of A was 20 cm in direction at rightangles tothe ray. then how much on the plan would be consequent
displacement of a point from its true position (if scale is:l cm= 2 m)?

Ans  X'1.0.03 mm
X2 2mm
V3 | mm
X4 0.4 mm

Question ID : 8161613735
Status : Not Answered
Chosen Option : --
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Q38 Which of the following factors does NOT affect permeability of soil?
Ans J 1.

X 2 Grain size of soil particles

Volume of soil

#< 3. Properties of pore fluid
X 4 Void ratio

Question ID : 8161613741
Status : Answered
Chosen Option : 1

Q.39

WA

X2
X3
v

JAN

Degree of kinematic indeterminacy of the given beam is:

Ans (9

0

o ™ W

Question ID: 8161613782
Status : Answered
Chosen Option : 3

Ans g
X2
X3
X 4

Q40 wWhich among the following is NOT a Bogue's compound present i cement?

4 Ca0.Si0,.Fe;05
3 Cao.Al)O5

3 Ca0.Si0y

4 Ca0.Al,03.Fe;03

Question ID : 8161613788
Status : Answered
Chosen Option : 1

s —

Ans x1
X2
X3
v

Q.41 Calculate the lag distance for design speed of 47 knvh for two-way traffic on a single-lane road
(assume coefficient of friction as 0.38 and reaction time of driver as 2.5 seconds).

32.64m
111.04 m

555

‘h
‘h
9
=
(S

Question ID : 8161613772
Status : Answered
Chosen Option : 1



Shashi Verma
Sticky Note
None set by Shashi Verma

Shashi Verma
Sticky Note
MigrationNone set by Shashi Verma

Shashi Verma
Sticky Note
Unmarked set by Shashi Verma

Shashi Verma
Sticky Note
None set by Shashi Verma

Shashi Verma
Sticky Note
MigrationNone set by Shashi Verma

Shashi Verma
Sticky Note
Unmarked set by Shashi Verma


Q.42 When calcium sulphate attacks on calcium aluminate hydrate present in concrete. it produces:
Ans X 1. calcium hydroxide
X 2. asphalt

< 3 anthracite

o 4. ettringite

Question ID ;: 8161613790
Status : Answered
Chosen Option : 1

Q.43  As per IS 456-2000. the limiting value of the depth of neutral axis(Xyyay d) for fe415 grade steel is:
Ans X 1. 0.46

V2 048

X3 033

X4 0.39

Question ID : 8161613798
Status : Answered
Chosen Option : 2

Q44 Observe the given plan and answer the question that follows.

Total centre line length of walls in the plan is:

Ans X 1.20.08 m
X2 1987m
X3 28.08m
v+ 23.08m

Question ID : 8161613722
Status : Not Answered
Chosen Option : --
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Q45 Bowditch rule is also termed as:
Ans X1 transit rule

X 2 axis rule

X 3 graphical rule

4 compass rule

Question 1D : 8161613730
Status : Answered
Chosen Option : 3

Q.46 According to Terzaghi and Peck. the ratio of D13 size of filter material to the DS3 size of the base material should be:

Ans x1 <10
V2 <4
N <78

X4 <15

Question ID : 8161613742
Status : Not Answered
Chosen Option : --

Q47 Study the given statements with respect to soak pits and choose the correct option.
1. Soak pits are preferable at locations, where the water table level is high.
2. Soak pits are preferable at locations where soil is porous.
Ans X 1. Both the statements are true
v 2 Statement | is false and statement 2 is true
X 3 Statement | is true and statement 2 is false

< 4 Both the statements are false

Question ID : 8161613779
Status : Answered
Chosen Option : 1

Q48 Convert 122°30" whole circle bearing into quadrant bearing.
Ans X1 N57°30°E

X 2. S57°30'W

X3 N57°30'W

v+ S57°30°E

Question ID : 8161613731
Status : Answered
Chosen Option : 4
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Q.49 Measure of the degree at which water losses its transparency due to the presence of suspended particulates is termed as:
Ans X 1. coagulation

X 2 sedimentation

X 3 flocculation

¢ turbidity

Question ID : 8161613777
Status : Answered
Chosen Option : 4

QS0 A soil sample has porosity 25%. Calculate its void ratio.
Ans X1 3.00

V2 0.34

X3 0.65

X4 046

Question ID : 8161613740
Status : Answered
Chosen Option : 2

@51 The dimension for angular velocity is:
Ans x 1. T_z

Question ID : 8161613748
Status : Answered
Chosen Option : 4

Q52 Ppascal’s law says that the:

Ans X4

intensity of pressure at a point iva fluid at rest cannot be determined

X2

intensity of pressure at a point ina fluid at motion is equal in magnitude in all directions

X3

intensity of pressure at a point in a fluid at rest is equal to zero

v+

intensity of pressure at a point in a fluid at rest is equal in magnitude in all directions

Question ID : 8161613754
Status : Answered
Chosen Option : 4
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Q.53 Inwhich type of transportation survey. the vehicles are stopped on a sampling basis and information is collected on the
type of vehicle, origin. destination. trip purpose. etc?

Ans  of 1 Roadside interview survey

X 2. Taxi survey
X 3. Tags on vehicles

X 4 Registration number plate survey

Question ID : 8161613766
Status : Answered
Chosen Option : 1

Q.54 In the design of structures. an additional lateral load considered, 1o account for the initial imperfections of the structure
geometry is cailed:

Ans 1. damping load

v 2 notional load
X 3 frictional drag load

X 4 rotational load

Question ID : 8161613801
Status : Answered
Chosen Option : 2

= e ———___— - —
.55
Qss . [~ FIELD CAPACITY
.'; 1 READILY AVAILABLE MOISTURE
S 4
VT k=% o oSl — XL 0pTiMUM MOISTURE
v WILTING COEFFICIENT
=)
® &
g! —e TIME

The given figure represents

Ans X 1. furrow method of irrigation
X 2. classes of soil water

X 3 base flow of water
 # frequency of irrigation

Question |D : 8161613758
Status : Answered
Chosen Option : 4

Q.56 Inwhich type of traffic signal svstem do signals along a given road shows the same indication (green. red. etc.) at the
same time?

Ans X 1. Alternative system
X 2. Flexible progressive system
V3 Simultaneous system

X 4 Simple progressive system

Question {D : 8161613767
Status : Answered
Chosen Option : 3
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Q.57 Counsider the given statements with respect to most economic sections of a rectangular channel and select the correct
option.

A. Discharge shall be maximum

B. Wetted perimeter shall be minimum
Ans o 1 Both the statements are true
X 2 Statement A is false and statement B is true
X 3 Statement A is true and statement B is false

X 4 Both the statements are false

Question ID : 8161613749
Status : Answered
Chosen Option : 1

Q.58 Which type of irrigation is practiced when the water supply is at too low a level to run by gravitation of the land?
Ans  of 1 Lift irrigation

X 2. River canal irrigation

X 3 Flow irrigation

X 4 Inundation irrigation

Question ID : 8161613757
Status : Answered
Chosen Option : 1

Q.59 A very small amount of is useful in making sound cement. If if is in excess. it causes the cement to become
unsound.

X ' iron oxide
X 2 silica
'3 sulphur
X 4 alkali

Ans

Question ID : 8161613711
Status : Answered
Chosen Option : 3

Q.60 According to IS 456-2000. under limit state of collapse. the maximum compressive strain in concrete in axial
compression is taken as:

Ans X1 2,00
X2 002
X302

v+ 0.002

Question ID : 8161613794
Status : Answered
Chosen Option : 4
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Q.61 For thin slabs and walls. the maximum size of coarse aggregates should be limited to the thickness of the

concrete section.

Ans 2 1. one-third
« 2. one-fourth
X 3. two-third
X 4 three fourth

Question ID : 8161613710
Status : Not Answered
Chosen Option : --

Q.62 Consider the statements with respect to degree of accuracy in estimating.

Assertion (A): The accuracy to be observed in preparing an estimate depends on the rate of the item and unit of
payment.

Reason (R): The higher the rates the greater should be the accuracy with which the quantities are calculated.

Ans  of 1

Both A and R are true and R is the correct explanation of A.

X2

Both A and R are true and R is not the correct explanation of A.

X 3. Aistrue but R is false.
X 4 Alis false but R is true.

Question ID : 8161613721
Status : Answered
Chosen Option : 3

Q.63 The height of the sample sand to be tested = 20 em and 1he height of the saturated sand = 16 cm: Find the bulking of
sand.

Ans (1. 20%
< 2 55,59
V'3 25%
X 4 80%

Question ID : 8161613709
Status : Answered
Chosen Option : 1

——
Q.64 Asimply supported beam of span 6 m is resting on a 230 nun wide brick wall. Assume depth of beam is 85 mm per 1 m
span. and also assume width of the beam equals width of the support. The factored dead load of the beam is

Ans X1 2111 KN
V2 26.39kN
X3 176 kN
X4 302 kN

Question ID : 8161613797
Status : Not Answered
Chosen Option : --
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Q.65 The force per unit area that must be exerted in order to extract water from the soil is known as

Ans X 1 soil moisture deficiency

X 2. moisture equivalent
< 3 pooling capacity

4 capillary potential

Question ID : 8161613763
Status : Not Answered
Chosen Option : --

Q.66 A three-hinged parabolic arch has a span of 30 m and the cential rise is 5 m. It is subjected to a point load of 40 kN ata
distance of 20 m from the right hinge. Calculate the vertical reaction component at its left support.

Ans X1 3535 KN
X2 40kN
X3 1313 KN
v 26.67KN

Question ID : 8161613787
Status : Not Answered
Chosen Option: --

—_—— —_—

Q.67 Calculate the number of M20 bolts required to connect the flange of an ISSC 200 column and a beam ISMB 400 which
is carrying a reaction of 140 kX due to factored loads (take strength of bolt as 45.3 kN).

Ans x1 6
X222
X3 8

v 4

Question 1D : 8161613802
Status : Not Answered
Chosen Option : --

Q.68 In which method of assessment of irrigation water are areas sowing crops recorded by a patrol both. at the time of
sowing and maturity. and at the end of the crop period a ‘demand'statement’ for each irxigator is prepared?

Ans  of 1 Assessment on area basis

X 2. Betterment levy basis
/X 3. Assessment on-composite rate basis

X 4. Permanent assessmeint

Question 1D : 8161613760
Status : Not Answered
Chosen Option : --
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Q.69 A cantilever beam of length L meters is subjected to uniformly varying load. varying from 0 kN/m at free end to W

KN/ at fixed end. The deflection at the free endis_____ (take E as modulus of elasticity of material used and I as
moment of inertia of the section).
Ans
v wiL*
30EI
X2 wL*
45E1
X3 wLs
385E1
wi?

4

 60EI

Question ID : 8161613784
Status : Answered
Chosen Option : 1

Q.70 The borizontal angle made by the survey line with reference to arbitrary meridian passing through one of the extremities
is called:

Ans X 1. magnetic bearing
X 2. true bearing
V3 arbitrary bearing

X 4 arbitrary meridian

Question ID : 8161613732
Status : Answered
Chosen Option : 3

Q.71 According 10 IS 1077-1992. the average compressive strength of burntclay bsicks with class designation 15 is:
X115 KN/mm?

X2 |5 N/m?

X3 15 kN/n?

v ¢ 15 N/mm?

Ans

Question ID : 8161613717
Status : Answered
Chosen Option : 4

Q.72 4 per IS 456-2000. calculate the flexural strength of concrete whose characteristic compressive strengthis 36 N mm?,
Ans : )
v 42 N/mm?
x 2. 5 : 2
2.4 N/mm
X3

e,
3.5 N/mun-

e . 9]

X4 6.5 N/mm?

Question 1D : 8161613792
Status : Answered
Chosen Option : 1
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Q.73 A vehicle has wheel base of 5.5 m. What is the off tacking negotiation of a curved path with a mean radius of 31.5 m?
(take width of pavement as 3.5 m)

Ans  of 1 0.48 m
<2 0.96m
X3017m
X4 0087 m

Question ID : 8161613770
Status : Not Answered
Chosen Option : --

Q.74 A property fetches a net annual income of T3000/- deducting all outgoings. Calculate the capitalised value of the
property if the rate of interest is 9% per annum.

Ans  of 1 T33.333.34
X 2 345,648.67
X 3. 359.671.58
X 4 33,240.00

Question ID : 8161613728
Status : Not Answered
Chosen Option : --

Q75 In the construction industry, contractor’s profit is included in

Ans  of 1 ynit rate of items
/X 2. specifications

X 3. work charged establishments

< 4 contingencies

Question ID : 8161613726
Status : Answered
Chosen Option : 3

————

Q78 What is the full form of CETP ?

Ans o 1 Common Effluent Treatment Plant
< 2. Common Environment Treatment Plant
X 3. Concave Envifonmental Treatment Plant
X 4 Combined Effluent Treatment Plant

Question ID : 8161613776
Status : Answered
Chosen Option : 1
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Q.77 Consider the given statements with respect to bricks.

A. Alumina presence in the brick earth imparts plasticity to the brick earth so that it can be moulded for the formation
of bricks.

B. If alumina is present in excess. raw bricks expand and swell during drving and burning.

Identify the correct statement/s.

X 1 Statement B is true A is false.
V2 Statement A is true B is false.
X 3. Both the statements are true.

Ans

< 4 Both the statements are false.

Question 1D : 8161613713
Status : Answered
Chosen Option : 2

Q.78 Total width of the pavement on a horizontal circular curve = 7.5 m and the super elevation is 0.06 m. Calculate the
maguitudes of raising at outer edge of the pavement with respect to the centre line and inner edge. respectively.

Ans 5 1.0.225m: 0.06 m
X2 0.06 m:0.45m
W3 0225m:0.45m
X 4 0.06 m:0.225m

Question ID : 8161613773
Status . Answered
Chosen Option : 3

Q.79 In setting time test. the amount of water used in terms of standard consistency (P) is:
Ans x 1 1P

X2075P

v 085P

X4+ 06P

Question 1D : 8161613791
Status : Answered
Chosen Option : 2

Q80 A cmal cost of the work is calculated:
Ans X1 at any stage of the work

X 2. by just knowing the work to be done
/< 3. during the estimation

« ¢+ at the time of completion of the work

Question ID : 8161613718
Status : Answered
Chosen Option : 4
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Q8 The unit of payment for the earthwork for embankment is:

Ans

s
X 1 per m~
v 2 perm’
/X 3 per metre

X 4 per number

Question ID : 8161613719
Status : Answered
Chosen Option : 2

Q.82 Specific energy of flowing water through a rectangular channel of width $ m when discharge is 10 md/s and depth of
water is 2 m is:

Ans X 1. 1.06 m
X2 102m
V3 205m
X4 2.60m

Question ID : 8161613750
Status : Answered
Chosen Option : 3

Q83 wWhich option represents the correct relation between Ce. Cv and Cd?
Ans o 1. Cd=Cv x Cc

X2 Cv=CexCd

X3 Cc=Cvx(d

X4 CcvxCd=1

Question ID : 8161613755
Status : Answered
Chosen Option : 1

Q84 precast concrete tiles with marble chips on the surface are known as:

Ans  of 1 mosaic tiles
X 2 lime tiles
X 3. granite tiles
X 4 marble tiles

Question 1D : 8161613706
Status : Not Answered
Chosen Option : --
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Q.85 In ground water. the muddy or cloudy appearance of clay or such other particles that presents hindrance to the path of
light. is measured by:

Ans X 1. screening

2 Jackson turbidity meter
X 3 Steven turbidity meter
X 4 Nessler's tubes

Question ID : 8161613775
Status : Answered
Chosen Option : 2

Q.86 Which of the following statements is-are true with respect to rates in the building estimation?
A) The rates for building estimation are usually taken from PWD schedule of rates. with appropriate escalation charges.

B) Rates for different items in the estimate are the current rates for the completion of the items of work.

X 1 Both the statements are false.
< 2 Only statement B is true.

Ans

V' 3 Both the statements are true.
< + Only statement A is true.

Question ID : 8161613720
Status : Answered
Chosen Option : 3

Q.87 The minimum spacing for M20 bolts, of grade 4.6, according to ISS00, is:
Ans o 1 50 mm

X2 55mm

X3 33mm

X4 37.4mm

Question 1D : 8161613803
Status : Answered
Chosen Option : 1

Q.88 A crop requires a total depth of 96 cin of water for a base period of 2280 hours. Find the duty of water.
Ans  of 1 855 hectares/cumec
X 2 1058 hectares/cuinec
X 3. 882 hectaresicuimec

X 4 765 hectares/cumec

Question ID : 8161613759
Status : Answered
Chosen Option : 1
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Q.89 Which type of cement is produced by grinding clinkers formed by calcining bauxite. lime. iron oxide with a little ferric
oxide. silica magnesia, etc? (Note that alumina content in this type of cement should NOT be less than 32%0.)

Ans 1. Coloured cement

2 High alumina cement

< 3 Blast furnace cement
X 4 Acid resistance cement

Question ID : 8161613716
Status : Answered
Chosen Option : 2

Q.90 A sawurated soil has compression index of 0.28, the void ratio at a stress 12 [N /m? is 2.03 and its permeability is

35x0°mmv's. What is the change in void ratio if stress is increased to 21.6 KN/m?? (take log;o (1.8) as 0.255)

Ans  X'1.0.0117
X 2. 0.0666
X3 00615
v+ 0.0715

Question ID : 8161613746
Status : Answered
Chosen Option : 4

R —— R — S - A

Q.91 Estimate the quantity of concrete required for a 175 mun thick RCC slab over a room of external dimension 4 m = S m
(including 30 cm wall thickness). Consider 0.2 m projection of slab all around the room.

Ans = s 3

X1 5875 m]

X2 3452 0

V'3 4158 08

X4 7656 m3

Question ID : 8161613724
Status : Not Answered
Chosen Option ; --
Q.92 10KN
Bx._
4 L
A|. Bm F
The force in member AB is . (take angle BAC as 60" and angle BCAas 30°)

Ans

v 1 53 KN compressive
X 2 24/3 KN tensile
X 3. 3y/5 KN tensile
X 4 24/5 KN compressive

Question ID : 8161613786
Status : Answered
Chosen Option : 1
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Q.93 The value of structures becomes less by them becoming out of date in style, structure in design. etc. This is termed as:

Ans X 1. scrap value

/< 2. capital cost

< 3 book value
W 4 obsolescence

Question iD : 8161613727
Status : Answered
Chosen Option : 4

Q.94 According to IRC recommendations. what shall be the rounded off value of overtaking sight distance. on a two lane
highway for the case in which design speed = 50 kmyh. time component for overtaking manoeuvre and for opposing
vehicle are 10 seconds and 7 seconds. respectively?

Ans - X1 470 m
V2 235m
X3 165m
X 4 340m

Question ID : 8161613771
Status : Not Answered
Chosen Option : --

Q.95 Calculate the area of field, when the initial reading = 9.918 and final reading = 4.254 were recorded by a planimeter.

Take. Multiplying constant of instrument (M) = 100 em?®, Instrument constant (C) = 23,521 and Numbzr of times the
zero mark of the dial passes the fixed index mark of the instrument (N) =-1.

Ans X1 655.7 cni?
X 2 895.7 cm?
V'3 785.7 cm?

X 4 986.5 cm®

Question ID : 8161613736
Status : Not Answered
Chosen Option : --
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QS8 Find the field capacity of a soil for the given data.

1. Root zone depth = 2m

19

. Existing water content = 5%

w

. Dry density of soil =20 KN/m?

=

. Water applied to the soil = 500 m’

(]

. Water loss due to evaporation and deep percolation = 10%
6. Area of plot = 1000 m?

(Consider unit weight of water =9.81 KN/m’)
Ans  of 1 16%

X2 24%

X 3 20%

X4 12%

Question 1D : 8161613765
Status : Not Answered
Chosen Option : --

Q.97 Calculate the target mean compressive strength at 28 days curing. for M20 grade concrete, as per IS 10262-2009 (take

standard deviation as 4 N, 1111112).

A o1 26.6 N/ mm
X2 20,0 N/ mm
K3 22 4N/ mm
X4 287N/ mm

NN NN

Question ID : 8161613707
Status : Answered
Chosen Option : 1

Q988 Chip mark. diagonal grain, tom grain and wane are the defects in timber due to:

Ans  of 1 conversion
X< 2 insects
X 3. natural forces

X 4. fungi

Question ID : 8161613715
Status : Answered
Chosen Option : 3
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Q99 Unvented heaters in bathrooms and sleeping rooms:
Ans X 1. are good aesthetically and for the human health
2 cause asphyxiation, carbon monoxide poisoning and death

X 3 do not affect human health
X 4 improve the efficiency of the heater

Question ID : 8161613778
Status : Answered
Chosen Option : 2

Q.100 Consider the given statements with respect to the Environment Protection Act, 19862

a. This Act empowers the Union Goveriunent to make rules providing standards in regard to which environment
pollutants shall NOT be discharged or emitted in the environment in excess.

b. This Act empowers the Union Government to take direct action against defaulters.

Select the correct statement’s.

Ans o 1 Both the statements are true
X 2. Statement | is false and statement 2 is true
X 3. Statement 1 is true and statement 2 is false
X 4 Both the statements are false

Question ID : 8161613781
Status : Answered
Chosen Option : 1
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